



\$16,200,000

127 QUAYSIDE DR, JUPITER, FL, 33477

<https://ritterproperties.com>

Situated on a quiet island street, this is a rare opportunity to own a brand-new waterfront home on one of the most coveted streets in Admirals Cove. With desirable southern exposure, and offering direct ocean access this is a property you won't want to miss! Built by award-winning Hasey Construction, this residence offers 6,450 square [...]

- 5 beds
- 6 baths
- Residential
- Single Family Residence
- Active
- 6450 sq ft

Basics



Date added: Added 2 months ago

Type: Residential

Bedrooms: 5 beds

Half baths: 2 half baths

Area: 6450 sq ft

SubdivisionName: Admirals Cove

GarageSpaces: 4

ListAOR: Miami Association of REALTORS®

Category: Single Family Residence

Status: Active

Bathrooms: 6 baths

Total rooms: 10

Lot size, sq ft: 18082 sq ft

ListOfficeName: Waterfront Properties & Club C

View: Canal, Water

MLS ID: A11951056

Rooms



Room type	Dimensions	Area	Length	Width
ThirdBedroom	19 x 14.4	273.6	19	14.4
DiningRoom	13 x 15	195	13	15
Loft	23.6 x 16	377.6	23.6	16
Kitchen	22.8 x 16	364.8	22.8	16
SecondBedroom	13 x 15.8	205.4	13	15.8
PrimaryBedroom	20.8 x 17.8	370.24	20.8	17.8
LivingRoom	22 x 12.6	277.2	22	12.6
FourthBedroom	14 x 14.8	207.2	14	14.8
FifthBedroom	15.4 x 15.4	237.16	15.4	15.4
Grt Rm	22 x 18	396	22	18

Building Details

Cooling features: Central Air, Zoned

ArchitecturalStyle: Detached, Two Story

Building Name: Admirals Cove

Exterior material: CBS Construction, Concrete Block Construction

Parking: Driveway

Year built: 1988

NewConstructionYN: No

Heating: Central, Electric, Zoned

Roof: Metal Roof



Amenities & Features

Features: Elevator, Entrance Foyer, First Floor Entry, Great Room, Loft, Other, Pantry, Utility Room/Laundry, Walk-In Closet(s)

CommunityFeatures: Boating, Clubhouse, Tennis Court(s), Exercise Room, Game Room, Gated Community, Golf Course Community, Pickleball, Sauna, Security Patrol

ExteriorFeatures: Other

Waterfront available: Yes

AttachedGarageYN: Yes

PoolPrivateYN: No

Amenities: Dishwasher, Disposal, Dryer, Microwave, Refrigerator, Washer

WindowFeatures: Complete Impact Glass, Impact Glass

PoolFeatures: In Ground

GarageYN: Yes

CoolingYN: Yes

FireplaceYN: No

